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	Question # 1 of 10 ( Start time: 02:21:12 PM) 

Total Marks: 1

If f(x) = sec(x^5) and g(x) = tan(2x), then the derivative of f(x) - g(x) is ______. NOTE:- where x^n denotes the nth power of x.
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Select correct option: 
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5sec(x^5)tan(x^5) - 2sec^2(2x). 
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sec(x^4)tan(x^4) - 2sec^2(2x). 
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sec(x) + 2tan(x). 
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5x^4sec(x^5)tan(x^5) - 2sec^2(2x). 
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	Question # 2 of 10 ( Start time: 02:22:23 PM) 

Total Marks: 1

At ‘x = pi’ , the derivative of ‘ f(x) = aCosx-bSinx ’ is------(note: pi=180 degrees)
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Select correct option: 
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	Question # 3 of 10 ( Start time: 02:23:22 PM) 

Total Marks: 1

The derivative of x^3+x^2 is………
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Select correct option: 
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3x+2          




[image: image35.wmf]
[image: image36.wmf]

 3x-2
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3x^2+2x         
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3x^2-2x
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	Question # 5 of 10 ( Start time: 02:24:42 PM) 

Total Marks: 1

If f (x) =Absolute( x + 1), then which of the following is NOT true about it. NOTE:- where x^n denotes the nth power of x .
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Select correct option: 
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Its derivative does not exists at x = -1. 
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Its derivative exists at x = -1
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It has corner point at x = -1.
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None of these
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	Question # 6 of 10 ( Start time: 02:25:46 PM) 

Total Marks: 1

h(t) =cos(t+1) is a composition of two functions , one is ‘Cos(t)’ and second is……….
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Select correct option: 
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t+1
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t
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	Question # 7 of 10 ( Start time: 02:26:28 PM) 

Total Marks: 1

If a car travels 150 miles over a straight road in 3 hours, then its average velocity during the trip is ………
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Select correct option: 
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50m/h          




[image: image81.wmf]
[image: image82.wmf]

60m/h




[image: image83.png]




 HTMLCONTROL Forms.HTML:Submitbutton.1 [image: image84.wmf]Click here to 

S

ave Answer & Move to Next Question




	


Top of Form

[image: image85.wmf]

/wEPDwUKMTY2N


[image: image86.wmf]

/wEWCgKOsOilBg


	Iqra



Quiz Start Time: 02:21 PM
	Time Left 

79
sec(s) 

[image: image87.png]





	
	Question # 8 of 10 ( Start time: 02:27:16 PM) 

Total Marks: 1

Let y = x.x+1 Then the instantaneous rate of change of y with respect to x at the point -2 is 
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Select correct option: 
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	Question # 9 of 10 ( Start time: 02:27:33 PM) 

Total Marks: 1

Average velocity is the slope of.....line
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Select correct option: 
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	Question # 10 of 10 ( Start time: 02:28:31 PM) 

Total Marks: 1

The function f(x) = |x| is differentiable in the interval (-infinity, 0)
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Select correct option: 
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